[ Efficiency vs vertpos |

~ 0.5

20.45

g
2 04

(8]
§0.35
Q
£ 03

0.95

Efficiend

102

107 1

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__mkFit_original

—— DQM_V0001_R000000001__Global__mkFit_det-triplet

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
e

ettici

................................................

............................

it

Ratio
N

(el
Lkl

0.95}

10 20 30
TP vert z (cm)

[Effici

ency vs.sim PV z |

~ 0.5

> F
0_045:— ------------------------------------------------
e o
:/—) 045— ------------------------------------------------
0 Y L] S S S S U S,
> F
0T AU
) =
£ 0.25F e i
@ H N . . .
st}
O R I SR peoe
] S P P Feeee feeeee P
Y5 S R S S S
N S I B D P
o ~of ; ; ; : :
s AU i e
= |g||||1§|||||§| ____________
[ [ETTTERTTT)
095 g 1520

Sim. PV z (cm)



	Contents
	Page 1


